

A new method of evaluating the sums of [formula] and related series

Autor(en): **Stark, Eberhard**

Objektyp: **Article**

Zeitschrift: **Elemente der Mathematik**

Band (Jahr): **27 (1972)**

Heft 2

PDF erstellt am: **08.08.2024**

Persistenter Link: <https://doi.org/10.5169/seals-28628>

Nutzungsbedingungen

Die ETH-Bibliothek ist Anbieterin der digitalisierten Zeitschriften. Sie besitzt keine Urheberrechte an den Inhalten der Zeitschriften. Die Rechte liegen in der Regel bei den Herausgebern. Die auf der Plattform e-periodica veröffentlichten Dokumente stehen für nicht-kommerzielle Zwecke in Lehre und Forschung sowie für die private Nutzung frei zur Verfügung. Einzelne Dateien oder Ausdrucke aus diesem Angebot können zusammen mit diesen Nutzungsbedingungen und den korrekten Herkunftsbezeichnungen weitergegeben werden. Das Veröffentlichen von Bildern in Print- und Online-Publikationen ist nur mit vorheriger Genehmigung der Rechteinhaber erlaubt. Die systematische Speicherung von Teilen des elektronischen Angebots auf anderen Servern bedarf ebenfalls des schriftlichen Einverständnisses der Rechteinhaber.

Haftungsausschluss

Alle Angaben erfolgen ohne Gewähr für Vollständigkeit oder Richtigkeit. Es wird keine Haftung übernommen für Schäden durch die Verwendung von Informationen aus diesem Online-Angebot oder durch das Fehlen von Informationen. Dies gilt auch für Inhalte Dritter, die über dieses Angebot zugänglich sind.

REFERENCES

- [1] B. L. VAN DER WAERDEN, *Elem. Math.* 25, 73 (1970). See also: W. LÜSSY and E. TROST, *Elem. Math.* 25, 82 (1970; H. IRMINGER, *Elem. Math.* 25, 135 (1970).
- [2] J. WASER and V. SCHOMAKER, *J. Amer. Chem. Soc.*, 67, 2014 (1945).
- [3] L. PAULING, *The Nature of the Chemical Bond*, 2nd Ed. (Cornell University Press, Ithaca, N.Y., 1940).
- [4] J. WASER, Proposition 10, Ph. D. Dissertation, California Institute of Technology, Pasadena, 1944. Oral Examination, September 5, 1944.
- [5] J. H. BURNS and J. WASER, *J. Amer. Chem. Soc.* 79, 859 (1956).
- [6] J. DONOHUE, *Acta Crystallogr.* 15, 708 (1962).
- [7] G. A. SIM, *J. Chem. Soc. London*, 5974 (1965).
- [8] E. RUCH, personal communication to J. D. D., February, 1970.
- [9] L. OOSTERHOFF, personal communication to J. D. D., May, 1971.
- [10] See, for example, A. C. AITKEN, *Determinants and Matrices*, 7th Edition, p. 123 (Oliver & Boyd, Edinburgh and London 1951).
- [11] See, for example, M. LAGALLY, *Vorlesungen über Vektorrechnung* (Akademische Verlagsgesellschaft, Leipzig 1944), p. 30.

A New Method of Evaluating the Sums of $\sum_{k=1}^{\infty} (-1)^{k+1} k^{-2p}$, $p = 1, 2, 3, \dots$ and Related Series

The decisive tool in our attempt to evaluate the sum $\sum_{k=1}^{\infty} (-1)^{k+1} k^{-2p}$ for fixed $p \in N = \{1, 2, 3, \dots\}$ is the kernel of Dirichlet in both of its representations (for all real x)

$$D_n(x) = \frac{\sin(2n+1)\frac{x}{2}}{2 \sin \frac{x}{2}} = \frac{1}{2} + \sum_{k=1}^n \cos kx \quad (n \in N). \quad (1)$$

First of all, let us consider

$$C_p(k) = \int_0^{\pi} t^{2p} \cos kt \, dt, \quad k \in N;$$

a twofold integration by parts gives the recursive formula

$$C_p(k) = \frac{2p}{k^2} \{(-1)^k \pi^{2p-1} - (2p-1) C_{p-1}(k)\} \quad (p \in N)$$

$$C_0(k) = 0$$

and hence, as is immediately verified¹⁾,

$$C_p(k) = (-1)^k \pi(2p)! \sum_{j=1}^p (-1)^{j+1} \frac{\pi^{2(p-j)}}{(2(p-j)+1)!} \frac{1}{k^{2j}} \quad (p \in N). \quad (2)$$

¹⁾ Formula 3.529.1 in [4] is obviously incorrect.

Now, concerning the even moments of (1), i.e.,

$$M(2p; n) = \int_0^\pi t^{2p} D_n(t) dt \quad (p \in \mathbf{N}),$$

we have, on the one hand, by the polynomial representation

$$M(2p; n) = \frac{\pi^{2p+1}}{2(2p+1)} + \sum_{k=1}^n C_p(k); \quad (3)$$

and on the other,

$$M(2p; n) = 2^{2p} \int_0^{\pi/2} \frac{y^{2p}}{\sin y} \sin(2n+1)y dy.$$

The second mean-value theorem (cf. e.g. [6, p. 163]) yields

$$\int_0^{\pi/2} \frac{y^{2p}}{\sin y} \sin(2n+1)y dy = \left(\frac{\pi}{2}\right)^{2p} \frac{\cos(2n+1)\xi}{2n+1} \quad (0 \leq \xi \leq \frac{\pi}{2}, n \in \mathbf{N})$$

since $\sin(2n+1)y$ is continuous, whereas $y^{2p}/\sin y$ is non-negative and increasing for $y \in [0, \pi/2]$. Thus, uniformly for all $p \in \mathbf{N}$,

$$M(2p; n) = O(n^{-1}) \quad (n \rightarrow \infty).$$

This gives, using (3) and (2),

$$\lim_{n \rightarrow \infty} \left\{ \frac{\pi^{2p}}{2(2p+1)} - \sum_{k=1}^n (-1)^{k+1} (2p)! \sum_{j=1}^p (-1)^{j+1} \frac{\pi^{2(p-j)}}{(2(p-j)+1)!} \frac{1}{k^{2j}} \right\} = 0$$

or

$$\sum_{k=1}^\infty (-1)^{k+1} \sum_{j=1}^p (-1)^{j+1} \frac{\pi^{2(p-j)}}{(2(p-j)+1)!} \frac{1}{k^{2j}} = \frac{\pi^{2p}}{2(2p+1)!} \quad (p \in \mathbf{N}).$$

After extracting the term for $j = p$, the desired formula reads

$$\begin{aligned} \sum_{k=1}^\infty \frac{(-1)^{k+1}}{k^{2p}} &= (-1)^{p+1} \frac{\pi^{2p}}{2(2p+1)!} \\ &- \sum_{k=1}^\infty (-1)^{k+1} \sum_{j=1}^{p-1} (-1)^{p+j} \frac{\pi^{2(p-j)}}{(2(p-j)+1)!} \frac{1}{k^{2j}}. \end{aligned} \quad (4)$$

From (4), by recursion for $p = 1, 2, 3, \dots$ the sums are easily calculated: in case $p = 1$ it follows directly that

$$\sum_{k=1}^\infty \frac{(-1)^{k+1}}{k^2} = \frac{\pi^2}{12}; \quad (5)$$

for $p = 2$, together with (5),

$$\sum_{k=1}^\infty \frac{(-1)^{k+1}}{k^4} = -\frac{\pi^4}{240} + \frac{\pi^2}{6} \sum_{k=1}^\infty \frac{(-1)^{k+1}}{k^2} = -\frac{\pi^4}{240} + \frac{\pi^4}{72},$$

so that

$$\sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k^4} = \frac{7}{720} \pi^4; \quad (6)$$

continuing in this way, for $p = 3$ now using both (5) and (6), one obtains

$$\sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k^6} = \frac{31}{30240} \pi^6, \dots$$

The standard proof (see e.g. [2, p. 245 ff], [1, p. 244]) by means of the theory of Bernoulli polynomials leads to

$$\sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k^{2p}} = \frac{(-1)^{p+1} \pi^{2p}}{2(2p)!} (2^{2p} - 2) B_{2p} \quad (p \in \mathbb{N}) \quad (7)$$

where B_{2p} are the Bernoulli numbers. These, in turn, may be deduced from the symbolic equation (i.e. expand (8) and set formally $B^n = B_n$)

$$(B + 1)^n - B^n = 0, \quad B_0 = B^0 = 1, \quad n = 1, 2, 3, \dots, \quad (8)$$

cf. [1, p. 233], [2, p. 185].

Of course, neither (4) nor (7) are actually closed expressions for the sum since the Bernoulli numbers are obtainable only via the recurrence formula (8). But (4) has the advantage of avoiding the use of B_{2p} ; moreover a comparison of (7) and (4) gives another way of evaluating these numbers.

In view of the obvious relations, cf. [2, p. 246],

$$\begin{aligned} \sum_{k=1}^{\infty} \frac{1}{k^{2p}} &= \frac{2^{2p}}{2^{2p} - 2} \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k^{2p}}, \\ \sum_{k=1}^{\infty} \frac{1}{(2k-1)^{2p}} &= \frac{2^{2p} - 1}{2^{2p} - 2} \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{k^{2p}} \end{aligned} \quad (p \in \mathbb{N})$$

the sums of these series may also be derived immediately from (4).

In the particular case $p = 1$, there is a proof in [5] using another kernel, namely that of Fejér, whereas the method employed in [3] is implicitly based upon the kernel of de La Vallée Poussin. This reveals that these kernels originating from approximation theory, also play an interesting rôle in a quite different branch of analysis.

Eberhard L. Stark, Technological University of Aachen, Germany²⁾

REFERENCES

- [1] C. JORDAN, *Calculus of Finite Differences*, 2nd ed. (New York 1950).
- [2] K. KNOPP, *Theorie und Anwendungen der unendlichen Reihen*, 4. Aufl. (Berlin 1947).
- [3] Y. MATSUOKA, *An Elementary Proof of the Formula $\sum_{k=1}^{\infty} 1/k^2 = \pi^2/6$* , Amer. Math. Monthly 68, 485-487 (1961).
- [4] I. M. RYSHIK and I. S. GRADSTEIN, *Summen-, Produkt- und Integraltafeln*, 2nd ed. (Berlin 1963).
- [5] E. L. STARK, *Another Proof of the Formula $\sum_{k=1}^{\infty} 1/k^2 = \pi^2/6$* , Amer. Math. Monthly 76, 552-553 (1969).
- [6] D. V. WIDDER, *Advanced Calculus*, 2nd ed. (Englewood Cliffs 1961).

²⁾ The author is indebted to Professor P. L. BUTZER for many helpful remarks. A support of the *Deutsche Forschungsgemeinschaft* is greatly acknowledged.